CHEM1902/4 2012-N-12 November 2012

* Propose a mechanism for the following reaction. Mark
OH S
4
+ H—Cl ——> Cl
NOX
T

What isomeric product might also form in this reaction?

Why is T the major product?




CHEM1902/4 2010-N-7 November 2010

e Consider the following reaction sequences beginning with the alcohol G.

ﬂ (ii) CH;MgBr (i) Nay,Cr,0, / H® (iii) CHsMgBr
then H,0O /Y

OH

G
(iv) CHsl
(v) conc. HySO4

What is the systematic name for G?

Suggest structures for compounds A — F in the reaction sequences above.

A B C

What type of reaction is occurring at each of the following steps?

Step (iii)

Step (iv)

Step (v)

Step (vi)

Marks
10

Page Total:



CHEM1902

2004-N-6

November 2004

e Draw the constitutional formula(s) of the major organic product(s) formed in each of

the following reactions.

CH;CH,CH,OH

@0
l1.Na NH

2. CH;CHl

Y

Marks
6
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. o . . Marks
¢ Give the constitutional formula and the name of the major organic product of each of 2

the following reactions.

F ®0
% I.Na NH _
2. CH;CH,I

Name:




